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Destination: ::/0 Protocol : O_ASE2

NextHop : FE80::D6C1:C8FF:FESE:DCBO Preference: 150
Interface : Vlan100 Cost :1

Destination: 240E:xxxx::3000/119 Protocol : O_SUM
NextHop ::: Preference: 255

Interface : NULLO Cost :0

Destination: 240E:xxxx::3000/122 Protocol : Static
NextHop : 240E:xxxx::30E1 Preference: 60
Interface : VIan300 Cost :0
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Interface: Ten-GigabitEthernet2/0/2 //E470]
Direction: Inbound
Policy: test
Classifier: test
Operator: AND
Rule(s) :
If-match acl ipv6 3200
Behavior: test
Accounting enable:
160 (Packets)

Interface: Ten-GigabitEthernet2/0/2 //_E4700
Direction: Outbound
Policy: test
Classifier: test
Operator: AND
Rule(s) :
If-match acl ipv6 3200
Behavior: test
Accounting enable:
160 (Packets)

Interface: Ten-GigabitEthernet2/0/3 // 70
Direction: Inbound
Policy: test
Classifier: test
Operator: AND
Rule(s) :
If-match acl ipv6 3200
Behavior: test
Accounting enable:
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https://zhiliao.h3c.com/questions/catesDis/103
https://zhiliao.h3c.com/User/other/1781

Length Infe
114 Echo (ping) request idedx17fa, seq=1, hop limit=254 (reply in 22862}
114 Echa (ping) reply id=gw17fa, seqel, hop limit=63 (request in 22861)
114 Echo (ping) reply id-ex17fa, seg-1, hop limit-62
114 Echo (ping) reply id=0x17f3, seqel, hop limit-61
114 Echa (ping) reply id=oxi7fa, seqel, hop limit=6a
114Echo (ping) reply id=oxi7fa, seqel, hop limit=35
114 Echo {ping) reply ide=ex17fa, seqel, hop limit=ss
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248e 13001 ICMPVE 114 Echo (ping) reply id=8x17fa, seq=2, hop limit=3
248e: 13001 ICMPVE 114 Echo (ping) reply id=ex17fa, seq=2, hop limit=2

240e:186:8::11:0:1 248e: 13001 ICHPVE 114 Echo (ping) reply id=ex17fa, seq=2, hop limit=1
| 200e:186::3203_240¢]

-
BEECRRERERR

[6900-probe]debug ipv6-drv show route 0 240E:186::3001 slot 2

- IPv6 Route Information Slot 2

- uiMask=112 is bigger than 64!
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[6900-probe]debug ipv6-drv show route 0 0::0 0 slot 2

- IPv6 Route Information Slot 2

--- UNIT: 0 ---

- IPvé ADDR: 0000:0000:0000:0000:0000:0000:0000:0000
- VRF: 0

- MASKLEN: 0

- EGRESS ID: 100015

- FLAGS: 0x20000

- PRI 0

- CLASS ID: 32

- HWINDEX: 7173

- TUNNEL OPT: 0

- HITBIT: NO

- EGRESS NUM: 0

- EGRESS FLAGS: 0x0

- INTF NUM: 7

- MAC ADDR: d4c1-c88e-dc90
- VLAN: 100

- DMOD: 66

- DPORT: 49

- TRUNK: 0
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display hardware-resource routing-mode

Routing-mode resource(routing-mode), all supported modes:

ipv6-64 ipv6-64 supported
ipv6-128 ipv6-128 supported
Default Current Next

ipv6-64 ipv6-128 ipv6-128
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